L- LV2 – septembre 2004

COMPREHENSION /10

1.Where do you think the story probably takes place ( country + setting of the story ) ? Justify each answer by quoting from the text and indicate the line number. ( 40 words )

2.List all the characters and for each one of them write  their sex and if they are present or just mentioned in the text.

3.Say  which category the three main characters in the story belong to : Upper class ; Lower class ; Urban

4.Who do the following pronouns refer to ?

a) line 1 : you waited

b) line 6 : he stopped

c) line 13 : take as many as you want

d) line 23 : we remember
e) line 30 : she trusted him
f) line 31 : he’s coming

5. From the information collected in questions 2 and 3, write a short paragraph (30 words ) explaining the relationship between the main characters.

6. From line 5 to line 26, the events of the story correspond to three different scenes.

a) Scene 1 : Give the names of the two characters and imagine their dialogue.

Character 1 : 
Name: __________



“………………………………….. ?

Character 2: 
Name: __________



“I-er- certainly”

b) Scene 2 : Pick out the action which illustrates scene 2

c) Scene 3 : use your own words to explain the characters’ movements. (30 words )

7.One of the characters is described as “weak”

a) Which one ? Justify your answer by quoting two elements from the text ( indicate the lines)

b) Among the following adjectives ( hopeless, logical, paradoxical), which one depicts the character’s    situation best ? Justify your answer in your own words. (20 words)

8. Which adjective best applies to the “London child” (line 19) : well-educated; cheeky; shy; depressed ? Justify by quoting one element from the text. (Indicate the line)

9. Which adjective best applies to McAllister :generous; kind-hearted; irritable; possessive ? Justify your choice in your own words. ( 50 words )

10. 

a) Which sentence marks the turning point in the narrative ? Write it down and indicate the line number

b) What action causes this turning point ? ( 15 words )

c) What is difficult for Lord Emsworth then ? Why ? (  25 words )

d) What else influences his behaviour ? (  25 words )

e) What can the top hat symbolise ? (  15 words )

f) Lines 40-41 :”The hat fell off. He let it lie. Free from its hateful weight, he felt more masterful than ever.” Explain what the underlined elements reveal. (30 words )

11. Analyse the main character’s attitude throughout the story. ( 30 words )

12.”A long moment in which Nature stood still..” (line 47). Account for the capital N in “Nature”, what does it  suggest ? ( 30 words )

13. Translate into French from line 42 “This young lady..” down to line 46 “…, in my own garden, McAllister.”

EXPRESSION / 10 – Choose ONE subject.

Subject 1 : Imagine an end to the story. ( 250 words )

Subject 2 : Referring to your own experience, relate circumstances in which you found it difficult to overcome  your fear. ( 250 words )

